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QUESTION 1
What does the monitor element POOL_FAILED ASYNC_TEMP_COL_REQS track?

A. The number of times an attempt to queue a column-organized prefetch request for temporary table spaces was made
but failed.

B. The number of times a temporary error occurred while trying to queue a column-organized prefetch request for a
regular table space.

C. The number of times DB2 had to retrieve a page from disk for a temporary column-organized table because the page
no longer resided in the buffer pool.

D. The number of times an asynchronous read request failed when attempting to read temporary column-organized data
from the buffer pool after the page had been flushed to disk.

Correct Answer: B

QUESTION 2

Which scenario does NOT require intraquery parallelism?

A. The execution of the LOAD command against an empty column-organized table.

B. A DML operation that references a populated column-organized table.

C. The execution of the RUNSTATS command against a populated column-organized table.
D. The addition of a primary key constraint to an empty column-organized table.

Correct Answer: D

QUESTION 3

Which type of compression is NOT provided as part of the DB2 Storage Optimization Feature?
A. Row compression

B. Index compression

C. Backup compression

D. Temporary table compression

Correct Answer: C

QUESTION 4

Which statement regarding NOT ENFORCED unique constraints is true?
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A. NOT ENFORCED unique constraints enforce uniqueness only for primary key columns.

B. The query optimizer will consider a NOT ENFORCED unique constraint when selecting the optimal data access
plan.

C. Storage requirements for NOT ENFORCED unique constraints are identical to storage requirements for a unique
index.

D. When attempting to insert data that does not conform to the NOT ENFORCED unique constraint, an error will be
returned and the record will not be inserted.

Correct Answer: A

QUESTION 5

What type of table can be converted into a column-organized table with the db2convert command?
A. A range partitioned table

B. A materialized query table

C. A row-organized user table

D. A declared global temporary table

Correct Answer: A
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